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QUESTION 1

Given that the following is your entire dataset:

100 column=Managers:Name, timestamp=13313141762084, value=Steve 100 column=Manage:Salary,
timestamp=13313141762086, value=80000 100 column=Skills:Skill_1, timestamp=13313141762089, value=Hadoop
100 column=Skills:Skill_2, timestamp=13313141762092, value=HBase

How many regions will be read during a scan of the entire dataset?

A. Four

B. Two

C.One

D. Three

Correct Answer: A

QUESTION 2

You have a table with 5 TB of data, 10 RegionServers, and a region size of 256MB. You want to continue with puts to
widely disbursed row ids in your table. Which of the following will improve write performance?

A. Increase your buffer cachein theRegionServers
B. Increase the number of RegionServers to 15
C. Decrease your number of RegionServersto 5
D. Decreaseyour regionsize to 128MB

Correct Answer: C

QUESTION 3

You have two standbys and one primary HMaster. Your primary HMaster fails. Which of the remaining HMasters
becomes the new primary?

A. Whichever HMaster first responds to ZooKeeper
B. Whichever HMasterZooKeeper randomly selects
C. Whichever HMastercreates the znode first

D. Whichever HMaster has the lower IP address

Correct Answer: A
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QUESTION 4

You have two tables in existing RDBMS. One contains information about the products you sell (name, size, color, etc.)
The other contains images of the products in JPEG format. These tables are frequently joined in queries to your
database.

You would like to move this data into HBase.

How would you design the schema?

A. Create two tables each with multiple column families

B. Create two tables each with a single column family

C. Createasingle table with two column families

D. Create a single table with one column family

Correct Answer: B

QUESTION 5

Your client application needs to write a row to a region that has, recently split. Where will the row be written?
A. One of the daughter regions

B. The original region

C. The .META. table

D. The HMaster

Correct Answer: A
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